~—~ -1 —_
5 10 @
= 3
s (I
o o 10
5]
- 1072
107k il
SO L O P P A |
= : i i Ll =
T 1. T H HTHE i S
o 09 . ! i ! o
s R
o.osfrbT R TR . . i . .
0532 1 0 T 2 3 0532 10 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
:Ugmmmm
—e— DQM”original_1000evt
—— DOMfitted4_T000evt
—— DOM_fit_nocpe_1000evt
£ £
(= e
~ ~
° °
g S

107 o3 g TRETE S 107

» U LN 7 O TS DS OO 9
= S 1osfH I *
1B T
. . : 0.95] . e e
0232 1 1 2 3 02372 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

a0 p,/p,)

0% 2 a1 o0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


